## Historic, Archive Document

Do not assume content reflects current scientific knowledge, policies, or practices.



6201

## WHOLESALE TRADE LIST Spring 1929

## Forest Nursery Co., Inc.

## Whotesale Nurserymen McMINNVILLE, TENN

TO THE TRADE

FFB 1 5 192

It is with pleasure that we are able to offer the trade such a complete line of forest tree seedlings and shrubs for lining out for spring shipment.

First, we wish to extend greetings and best wishes for a prosperous year in 1929, and to thank each and everyone of our customers for the business they have given us in the past, and we trust we may have the pleasure of having an order from you for spring 1929 shipment.

We are perhaps the largest growers and handlers of Hedge Plants, Privett California and Amur River North and Barberry Thunbergii in this section and your orders for these plants are neither too small nor too large for us to handle. We can now dig, grade and tie this stock to suit your requirements. If you want to buy in carload lots write us for special prices. Samples sent on request.

HARDY DECIDUOUS FLOWERING	LIGUSTRUM JAPONICUM. Jap. Privett.
SHRUBS	6 to 12 inch (tr.) br 3.50
	12 to 18 inch (tr.) br 6.00
Nursery Grow Stock-(s) Seedlings; (	tr) 18 to 24 inch (tr.) br 15.00
Transplanted; (c) Cuttings.	2 to 3 feet (tr.) br 25.00
Examplified (c) Carrings	3 to 4 feet (tr.) br
LIGUSTRUM Am., nse. Amur River No.	
Privett.	6 to 12 inch 1-yr. (c) br 1.50 11.00
Per 100 Per 10	000 12 to 18 inch 1-yr. (c) 2 br 2.50 18.00
Lining out grade\$ 1.50 \$10	12 to 18 inch 1-yr. 3 br 3.00 25.00
	2.50 18 to 24 inch (c) 3 br 4.00 35,00
	1.00 SEEDLING ALTHEA or Rose of Sharon.
	2.50 6 to 12 inch (s)
	12 to 18 inch (s)
	1.00 18 to 24 inch (s) 1.00 7.50
	.00 2 to 3 feet (s) 1.50 10.00
2 to 3 feet 3 br. and up 5.00 . 45	ALTHEA Hibiscus Syriacus.
Amurense. Amur River South Privett.	Amplissima. Double Rosy Red.
6 to 12 inch 1-yr. (s)	6 to 12 inch 1-yr. (c) 2.00 15.00 5.00 12 to 18 inch 1-yr. (c) 3.00 22.50
	5.00 12 to 18 inch 1-yr. (c) 3.00 22,50 7.00 18 to 24 inch 1-yr. (c) 4.00 30.00
	0.00 12 to 18 inch (tr) 3 br. and up 6.00 50.00
23 00 22 222 2 321 (27	5.00 18 to 24 inch (tr) 3 br. and up 8.00 75.00
	7.00 2 to 3 feet (tr) 3 br. and up 12.00 100.00
0 00	0.00 2 to 3 feet (tr) (Tree Form) 15.00
18 to 24 inch (c) br 2.00 15	5.00 3 to 4 feet (tr) (Tree Form) 20.00
2 to 3 feet (c) br	0.00 Boule de Feu. Double Red.
	7.50 6 to 12 inch 1-yr. (c) 2.00 15.00
18 to 24 inch (tr) well branched. 3.00 25	2.50 12 to 18 inch 1-yr. (c) 3.00 22.50
2 to 3 feet (tr) well branched 4.00	0.00 18 to 24 inch 1-yr. (c) 4.00 30.00
Ovalifolium California Privett.	12 to 18 inch 2-yr. (c) 3-br,-up 5.00 40.00
	4.00 18 to 24 inch 2-yr. (c) 3-brup 6.00 50.00
	6.00 12 to 18 inch (tr) 3 br. and up 6.00 50.00
Q 00 12 11011 = Jr. = nr. mr.	7.00 18 to 24 inch (tr.) 3 br. up 8.00 75.00
	0.00 2 to 3 feet (tr) 3 br. and up 12.00 100.00
	0.00 2 to 3 feet (tr) (Tree Form) 15.00
	4.00 Duchess de Brabant.
Id do mi minima a Jan o man mi	4.00 6 to 12 inch 1-yr. (c) 2.00 15.00
	0.00 12 to 18 inch 1-yr. (c) 3.00 22.50
2 00 0 1000 2 31, 0 21, 12, 12, 12, 12, 12, 12, 12, 12, 12,	5.00 18 to 24 inch 1-yr. (c) 4.00 30.00
	0.00 12 to 18 inch (tr) 3 br. and up. 6.00 50.00
	0.00 18 to 24 inch (tr) 3 br. and up. 8.00 75.00
4 to 5 feet 2-yr. (tr) 5-10 canes 7.50 6	0.00 2 to 3 feet (tr) 3 br. and up 12.00 100.00
1 40 0 2002 - 341 (> -	2 to 3 feet (tr) (Tree Form) 15.00
LIGUSTRUM IBOLIUM. Ibolium Prive 6 to 12 inch 1-vr. (c) 2.00 1	
0 00 12 22012	5.00
12 to 18 inch 1-yr. (c) 3.00 2	12 W 18 High 1-y1. (c) 5.00 22.00
Obtusifolium. Ibota Privett.	18 to 24 inch 1-yr. (c) 4.00 30.00
	2.00 12 to 18 inch 2-yr. (c) 3-brup 5.00 40.00
	8.00 18 to 24 inch 2-yr. (c) 3-brup 6.00 50.00
6 to 12 inch 1-yr. (c) br 1.50	1.00 2 to 3 feet 2-yr. (c) 3-brup. 7.00 60.00
12 to 18 inch 1-yr. (c) 2 br 2.50 1	8.00 12 to 18 inch (tr) 3 br. and up. 6.00 50.00
10 00 10 111011 1 311 0 111111111111	25.00 18 to 24 inch (tr) 3 br, and up. 8.00 75.00
10 00 21 11011	2 to 3 feet (tr) 3 br. and up 12.00 100.00
Id to be made	5.00 2 to 3 feet (tr) (Tree Form) 15.00
2 60 0 1000 0 21. 1224 0.	15.00 3 to 4 feet (tr) (Tree Form) 20.00
CTANDADD DE	DINT M'MINNVILLE, TENN.

STANDARD PRINT, M'MINNVILLE, TENN.

Lady Stanley. White Shaded Rose				
	Somi-	Dride of Reshester Dout-is		
Double.	-Sciii-	Pride of Rochester Deutzia.		
	15.00	6 to 12 inch 1-yr. (c)		15.00
	15.00	12 to 18 inch 1-yr. (c)	2.50	20.00
12 to 18 inch 1-yr. (c) 3.00	22.50	18 to 24 inch 1-yr. (c)	3.00	25.00
18 to 24 inch 1-yr. (c) 4.00	30.00	2 to 3 feet 1-yr. (c)	5.00	40.08
12 to 18 inch (tr) 6.00	50.00	18 to 24 inch 2-yr. (c)	4.00	35.00
Paeoniflora. White with Cherry Red	Center	2 to 3 feet 2-yr. (c)	6.00	50.00
6 to 12 inch 1-yr. (c). 2.00	15.00	EXOCHORDA Grandiflora.		
		12 to 18 inch (tr)	35.00	105.80
12 to 18 inch 1-yr. (c) 3.00	22.50			125.00
18 to 24 inch 1-yr. (c) 4.00	30.00	18 to 24 inch (tr)		175.00
12 to 18 inch (tr) 3 br. and up 6.00	50.00	2 to 3 feet (tr)	25.00	225.00
18 to 24 inch (tr) 3 br. and up. 8.00	75.00	3 to 4 feet (tr)	30.00	
Pulaharimus (Variagated Flower)		FORSYTHIA Fortunei.		
Pulcherimus. (Variegated Flower.)	15.00	6 to 12 inch 1-yr. (c)	2.00	15.00
6 to 12 inch 1-yr. (c) 2.00	15.00	12 to 18 inch 1-yr. (c)		
12 to 18 inch 1-yr. (c) 3.00	22.50		2.50	20.00
18 to 24 inch 1-yr. (c) 4.00	30.00	18 to 24 inch 1-yr. (c)	3.00	25.00
Mixed Colors. Double Varieties.		18 to 24 inch 2-yr. (c)		35.00
	10.00	18 to 24 inch 2-yr. (tr)	5.00	45.00
6 to 12 inch 1-yr. (c) 1.50	10.00	Intermedia.		
12 to 18 inch 1-yr. (c) 2.00	15.00	6 to 12 inch 1-yr. (c)	2.00	15,00
18 to 24 inch 1-yr. (c)	20.00	12 to 18 inch 1-yr. (c)		20.00
18 to 24 inch 2-yr. (tr) 3-brup 6.00	50.00	18 to 24 inch 1-yr. (c)	2.00	
2 to 3 feet 2-yr. (tr) 3-brup 8.00	75.00	10 to 94 inch 9 (c)		25.00
Nata The chave variation of 2 was	+ + + + + + + + + + + + + + + + + + + +	18 to 24 inch 2-yr. (c)	4.00	35.00
Note—The above varieties of 2 year		2 to 3 feet 2-yr. (c)	6.00	50.00
planted Althaeas are good, stocky plan		18 to 24 inch 2-yr (tr)		45.00
got mixed and we were unable to s		2 to 3 feet 2-yr. (tr)	7.00	60.00
Anyone desiring mixed colors would	make a	3 to 4 feet 2-yr. (tr)	10.00	
good buy to get some of these.		Viridissima,		
AMVCDATUS Flourning Almond D	ink (on	6 to 12 inch 1-yr. (c)	2.00	15.00
AMYGDALUS. Flowering Almond, P	TIP (011	12 to 18 inch 1-yr. (c)	2.50	20.00
peach.)		18 to 24 inch 1-yr. (c)		
12 to 18 in. 2-yr. (tr) well br 12.50		2 to 3 foot 1 am (a)	3.00	25.00
18 to 24 inch 2-yr. (tr) Well br. 20.00		2 to 3 feet 1-yr. (c)		40.00
2 to 3 fcet 2-yr. (tr) well br 25.00		HYDRANGEA Arborescens Wild		
The state of Thinks (own months)		6 to 12 inch 1-yr. (c)	2.50	20.00
Flowering Almond, Pink (own roots.)		12 to 18 inch 1-yr. (c)	3.00	25.00
13 to 18 inch (tr) well br 15.00		18 to 24 inch (tr)	5.00	40.00
18 to 24 inch (tr) weil br 25.00		2 to 3 feet (tr)	6.50	20.00
2 to 3 feet (tr) well br 35.00				
AMORPHA Fruticosa. False-indigo.	Indien-	Paniculata Grandiflora Hydrang		
	1114160-	Lining out	5.00	45.00
bush.	0.00	12 to 18 inch (tr)	15.00	125.00
4 to 6 inch (s) 1.00	8.00	18 to 24 inch (tr)	20.00	175.00
6 to 12 inch (s)	10.00	2 to 3 feet (tr)	27.50	225.00
12 to 18 inch (s) 2.00	15.00	Arborescens Grandiflora Hydrai	ngea.	
18 to 24 inch (s)	20.00	6 to 12 inch Lining out		60.00
12 to 18 inch (tr) 4.00	30.00	12 to 18 inch (tr)		
18 to 24 inch (tr) well br 5.00	40.00	10 to 24 inch (tr)	10.00	125.00
2 to 3 feet (tr) weil br	60.00	18 to 24 inch (tr)	22.50	200.00
3 to 4 feet (tr) well br 10.00	80.00	2 to 3 feet (tr)		250.00
		Quercifolia. Oak Leaf Hydrang		
BARBERRY Thunbergi, Japanese Bar	berry.	Lining out divisions		
4 to 6 inch 1-yr. (8)	5.00	HYPERICUM Prolificum. Shrub	by St.	Johns-
6 to 9 inch 1-yr. (s) 1.50	8.00	wort.		
9 to 12 inch 1-yr. (s) 2.00	10.00	12 to 18 nich 1-yr. (tr)	6.00	
	15.00	18 to 24 inch 1-yr. (tr)	8.00	
12 to 15 inch (s) 2.50 15 to 18 inch (s) 3.00	25.00	LILAC (Syringa). Common Pur		
13 to 18 inch (S)				
20 10 10 1 11 (4-1)	en nn			
12 to 18 inch (tr)	60.00	12 to 18 inch (tr)	10.00	
13 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00	100.00	12 to 18 inch (tr)	10.00 15.00	
12 to 18 inch (tr)		12 to 18 inch (tr)	10.00 15.00 20.00	
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00		12 to 18 inch (tr)	10.00 15.00 20.00 pie (Pe	ersian.)
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Eush.	100.00	12 to 18 inch (tr)	10.00 15.00 20.00 pie (Pe	ersian.)
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 3.50	30.00	12 to 18 inch (tr)	10.00 15.00 20.00 pie (Pe	ersian.)
12 to 18 inch (tr)	30.00 40.00	12 to 18 inch (tr)	10.00 15.00 20.00 pie (Pe 10.00	ersian.)
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 3.50 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr. 7.00	30.00 40.00 60.00	12 to 18 inch (tr)	10.00 15.00 20.00 pie (Pe 10.00	ersian.)
12 to 18 inch (tr)	30.00 40.00	12 to 18 inch (tr)	10.00 15.00 20.00 pie (Pe 10.00 25.00 30.00	ersian.)
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 3.50 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr 7.00 2 to 3 feet 2-yr 12.00	30.00 40.00 60.00	12 to 18 inch (tr)	10.00 15.00 20.00 pie (Pe 10.00 25.00 30.00	ersian.) 20.00
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 3.50 12 to 18 inch 1-yr, Lining out 5.00 18 to 24 inch 2-yr 7.00 2 to 3 feet 2-yr 12.00  COMPTONIA Asplenifolia.	30.00 40.00 60.00	12 to 18 inch (tr)	10.00 15.00 20.00 pie (Pe 10.00 25.00 30.00	
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 3.50 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr. 7.00 2 to 3 feet 2-yr. 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. (tr) 12.00	30.00 40.00 60.00	12 to 18 inch (tr)	10.00 15.00 20.00 pie (Pe 10.00 25.00 30.00 n.	20.00
12 to 18 inch (tr)	30.00 40.00 60.00 100.00	12 to 18 inch (tr)	10.00 15.00 20.00 pie (Pe 10.00 25.00 30.00 n. 3.00 4.00 5.00	20.00 30.06 40.06
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 3.50 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr 7.00 2 to 3 feet 2-yr 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr, (tr) 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00	30.00 40.00 60.00 100.00	12 to 18 inch (tr)	10.00 15.00 20.00 pie (Pet 10.00 25.00 30.00 n. 3.00 4.00 5.00 ite Flo	20.00 30.00 40.00 wers.
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 5.00 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr. 7.00 2 to 3 feet 2-yr. 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. (tr) 12.00  CORNUS Amomum. Silky Dogwood.	30.00 40.00 60.00 100.00	12 to 18 inch (tr)	10.00 15.00 20.00 pie (Pe 10.00	20.00 30.00 40.00 wers. 15.00
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 3.50 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr. 7.00 2 to 3 feet 2-yr. 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. (tr) 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.00	30.00 40.00 60.00 100.00	12 to 18 inch (tr)	10.00 15.00 20.00 pie (Pe 10.00	20.00 30.00 40.00 wers. 15.00 20.00
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 3.50 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr. 7.00 2 to 3 feet 2-yr. 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. (tr) 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.00 18 to 24 inch (c) 3.50	30.00 40.00 60.00 100.00	12 to 18 inch (tr)	10.00 15.00 20.00 pie (Pe 10.00 25.00 30.00 a. 3.00 4.00 5.00 ite Flo 2.00 3.00 4.00	20.00 30.08 40.00 wers. 15.08 20.00 30.00
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 5.00 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr. 7.00 2 to 3 feet 2-yr. 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. (tr) 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50 Sanguinea. English Dogwood.	30.00 40.00 60.00 100.00	12 to 18 inch (tr)	10.00 15.00 20.00 20.00 10.00	20.00 30.08 40.00 wers. 15.08 20.00 30.00 50.00
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 5.00 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr. 7.00 2 to 3 feet 2-yr. 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. (tr) 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 2.00  Sanguinea. English Dogwood. 6 to 12 inch (c) 2.00	30.00 40.00 60.00 100.00 15.00 25.00	12 to 18 inch (tr)	10.00 15.00 20.00 pie (Per 10.00	20.00 30.08 40.00 wers. 15.08 20.00 30.00
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 5.00 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr 7.00 2 to 3 feet 2-yr 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. (tr) 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.00 18 to 24 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 2.00 12 to 18 inch (c) 3.00	100.00 30.00 40.00 60.00 100.00 15.00 20.00 25.00 15.00 20.00	12 to 18 inch (tr) 18 to 24 inch (tr) 2 to 3 feet (tr) Rothomagensis Lilac. Deep-pur 18 to 24 inch 1-yr 18 to 24 inch 1-yr PERSICA. Persian White Lilac 2 to 3 feet (tr) br 3 to 4 feet (tr) br LINDERA Benzoin. Spice Busl 6 to 12 inch (s) 12 to 18 inch (s) 18 to 24 inch (s) 18 to 24 inch (s) 10 to 12 inch, from cuttings 11 to 18 inch, from cuttings 12 to 18 inch, from cuttings 15 to 24 inch (tr) 16 to 24 inch (tr) 17 to 3 feet (tr) 18 to 4 feet (tr) 18 to 4 feet (tr)	10.00 15.00 20.00 pie (Pe 10.00 25.00 30.00 h. 3.00 4.00 5.00 ite Flo 2.00 3.00 4.00 6.00 10.00	20.00 30.08 40.00 wers. 15.08 20.00 30.00 50.00
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 5.00 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50  Sanguinea. Engiish Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50  Sanguinea. Engiish Dogwood. 6 to 12 inch (c) 3.50  18 to 24 inch (c) 3.00 18 to 24 inch (c) 3.50	30.00 40.00 60.00 100.00 15.00 25.00	12 to 18 inch (tr)	10.00 15.00 20.00 20.00 pie (Pe 10.00	20.00 30.06 40.00 wers. 15.06 20.00 30.00 50.00
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 5.00 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50 Sanguinea. English Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 3.50  Stolonifera. Red-ozier Dogwood.	100.00 30.00 40.00 60.00 100.00 15.00 20.00 25.00 25.00	12 to 18 inch (tr) 18 to 24 inch (tr) 2 to 3 feet (tr) Rothomagensis Lilac. Deep-pur 18 to 24 inch 1-yr. PERSICA. Persian White Lilac 2 to 3 feet (tr) br. 3 to 4 feet (tr) br. LINDERA Benzoin. Spice Busl 6 to 12 inch (s). 12 to 18 inch (s). 18 to 24 inch (s). LONICERA Bella Candida. Wh 6 to 12 inch, from cuttings. 12 to 18 inch, from cuttings. 13 to 24 inch (tr). 14 to 24 inch (tr). 15 to 3 feet (tr). 16 to 24 inch (tr). 17 to 4 feet (tr). 18 rearrantissima. Paie-pink Flow 6 to 12 inch, from cuttings	10.00 15.00 20.00 20.00 20.00 20.00 20.00 30.00 30.00 4.00 5.00 4.00 5.00 4.00 6.00 10.00 112.00 vers.	20.00 30.06 40.00 wers. 15.06 20.00 30.00 50.00 80.00
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 5.00 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 3.50  18 to 24 inch (c) 3.00 18 to 24 inch (c) 3.50	100.00 30.00 40.00 60.00 100.00 15.00 20.00 25.00 15.00 20.00	12 to 18 inch (tr)	10.00 15.00 20.00 20.00 20.00 10.00 25.00 30.00 10.00 4.00 5.00 ite Flo 2.00 3.00 4.00 6.00 10.00 12.00 12.00 3.00	20.00 30.06 40.00 wers. 15.06 20.00 30.00 50.00 80.06
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 5.00 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr 7.00 2 to 3 feet 2-yr 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. (tr) 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 3.50  Stolonifera. Red-ozier Dogwood. 6 to 12 inch (c) 3.50	100.00 30.00 40.00 60.00 100.00 15.00 20.00 25.00 25.00	12 to 18 inch (tr)	10.00 15.00 20.00 20.00 10.00	20.00 30.00 40.00 wers. 15.00 20.00 30.00 50.00 80.00
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 3.50 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr. 7.00 2 to 3 feet 2-yr. 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. (tr) 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.00 18 to 24 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 3.50  Stolonifera. Red-ozier Dogwood. 6 to 12 inch (s) 75 12 to 18 inch (s) 75	100.00 30.00 40.00 60.00 100.00 15.00 20.00 25.00 15.00 6.00	12 to 18 inch (tr)	10.00 15.00 20.00 20.00 20.00 10.00 25.00 30.00 10.00 4.00 5.00 ite Flo 2.00 3.00 4.00 6.00 10.00 12.00 12.00 3.00	20.00 30.06 40.00 wers. 15.06 20.00 30.00 50.00 80.06
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 5.00 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr 7.00 2 to 3 feet 2-yr 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. (tr) 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.00 18 to 24 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 3.50  Stolonifera. Red-ozier Dogwood. 6 to 12 inch (s) 7.5 12 to 18 inch (s) 1.00 18 to 24 inch (s) 1.50	100.00 30.00 40.00 60.00 100.00 15.00 20.00 25.00 15.00 6.00 8.00 12.00	12 to 18 inch (tr)	10.00 15.00 20.00 pie (Per 10.00	20.00 30.00 40.00 wers. 15.00 20.00 30.00 50.00 80.00
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 5.00 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr 7.00 2 to 3 feet 2-yr 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. (tr) 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.00 18 to 24 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 3.50  Stolonifera. Red-ozier Dogwood. 6 to 12 inch (s) 75 12 to 18 inch (s) 1.00 18 to 24 inch (s) 1.50 2 to 3 feet (s) 2.50	100.00 30.00 40.00 60.00 100.00 15.00 20.00 25.00 15.00 6.00 8.00 12.00 18.00	12 to 18 inch (tr)	10.00 15.00 20.00 20.00 20.00 20.00 20.00 30.00 30.00 4.00 5.00 ite Flo 2.00 3.00 4.00 6.00 10.00 12.00 vers. 2.00 3.00 4.00	20.00 30.00 40.00 wers. 15.00 20.00 30.00 50.00 80.00
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 5.00 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr 7.00 2 to 3 feet 2-yr 12.00  COMPTONIA Asplenifolia. 18 to 24 inch 2-yr. (tr) 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.00 18 to 24 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 3.50  Stolonifera. Red-ozier Dogwood. 6 to 12 inch (s) 75 12 to 18 inch (s) 1.00 18 to 24 inch (s) 1.50 2 to 3 feet (s) 2.50  DEUTZIA Candidissima. Snowlake 1	100.00  30.00 40.00 60.00 100.00  15.00 20.00 25.00  15.00 20.00 25.00  6.00 8.00 12.00 18.00 Deutzia.	12 to 18 inch (tr) 18 to 24 inch (tr) 2 to 3 feet (tr) Rothomagensis Lilac. Deep-pur 18 to 24 inch 1-yr. PERSICA. Persian White Lilac 2 to 3 feet (tr) br. 3 to 4 feet (tr) br. 10 to 12 inch (s) 11 to 18 inch (s) 12 to 18 inch (s) 13 to 24 inch (s) 14 to 12 inch, from cuttings 15 to 18 inch, from cuttings 16 to 12 inch, from cuttings 17 to 18 inch (tr) 18 to 24 inch (tr) 19 to 3 feet (tr) 10 to 3 feet (tr) 11 to 12 inch, from cuttings 12 to 13 inch, from cuttings 15 to 16 inch, from cuttings 16 to 17 inch, from cuttings 17 to 18 inch, from cuttings 18 to 24 inch, from cuttings 19 to 19 inch, from cuttings 10 to 19 inch, from cuttings 11 to 19 inch, from cuttings 12 to 19 inch, from cuttings 13 to 24 inch, from cuttings 14 to 15 inch, from cuttings 15 to 24 inch (tr) 2-yr. 16 to 24 inch (tr) 2-yr. 17 to 3 feet (tr) 2-yr.	10.00 15.00 20.00 20.00 20.00 20.00 20.00 30.00 30.00 4.00 5.00 ite Flo 2.00 3.00 4.00 6.00 10.00 12.00 vers. 2.00 3.00 4.00	20.00 30.00 40.00 wers. 15.00 20.00 30.00 50.00 80.00
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 5.00 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. (tr) 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 3.50  Stolonifera. Red-ozier Dogwood. 6 to 12 inch (s) 75 12 to 18 inch (s) 75 12 to 18 inch (s) 75 12 to 18 inch (s) 1.00 18 to 24 inch (s) 1.50 2 to 3 feet (s) 2.50  DEUTZIA Candidissima. Snowflake 16 to 12 inch 1-yr. (c) 2.00	100.00  30.00 40.00 60.00 100.00  15.00 20.00 25.00  15.00 20.00 25.00  6.00 8.00 12.00 18.00 Deutzia. 15.00	12 to 18 inch (tr) 18 to 24 inch (tr) 2 to 3 feet (tr) 18 to 24 inch (tr) 2 to 3 feet (tr) 18 to 24 inch 1-yr.  PERSICA. Persian White Lilac 2 to 3 feet (tr) br. 3 to 4 feet (tr) br.  LINDERA Benzoin. Spice Bush 6 to 12 inch (s) 12 to 18 inch (s) 18 to 24 inch (s) 10 to 12 inch, from cuttings. 12 to 18 inch, from cuttings. 13 to 24 inch (tr) 2 to 3 feet (tr) 3 to 4 feet (tr)  Fragrantissima. Paie-pink Flow 6 to 12 inch, from cuttings. 12 to 18 inch, from cuttings. 15 to 24 inch (tr) 2 to 3 feet (tr) 3 to 4 feet (tr)  Fragrantissima. Paie-pink Flow 6 to 12 inch, from cuttings. 12 to 18 inch, from cuttings. 13 to 24 inch (tr) 2-yr. 14 to 3 feet (tr) 2-yr. 15 to 3 feet (tr)  Morrowi. White Flowers.	10.00 15.00 20.00 20.00 20.00 20.00 20.00 30.00 30.00 4.00 5.00 ite Flo 2.00 3.00 4.00 6.00 10.00 12.00 vers. 2.00 3.00 4.00	20.00 30.00 40.00 wers. 15.00 20.00 30.00 50.00 80.00
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 5.00 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. (tr) 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.00 18 to 24 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 3.50  Stolonifera. Red-ozier Dogwood. 6 to 12 inch (s) 75 12 to 18 inch (s) 1.00 18 to 24 inch (s) 1.50 2 to 3 feet (s) 2.50  DEUTZIA Candidissima. Snowliake 16 to 12 inch 1-yr. (c) 2.00 12 to 18 inch 1-yr. (c) 2.00 12 to 18 inch 1-yr. (c) 2.00	100.00  30.00 40.00 60.00 100.00  15.00 20.00 25.00  15.00 8.00 12.00 12.00 12.00 15.00 Deutzia. 15.00 20.00	12 to 18 inch (tr)	10.00 15.00 20.00 20.00 10.00 10.00 20.00 10.00 25.00 30.00 3.00 4.00 5.00 10.00 12.00 vers. 2.00 3.00 4.00 7.50 12.00 12.00 12.00 12.00 12.00 12.00 12.00	20.00 30.06 40.00 wers. 15.06 20.06 30.00 50.06 80.06
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 5.00 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. (tr) 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 3.50  Stolonifera. Red-ozier Dogwood. 6 to 12 inch (s) 75 12 to 18 inch (s) 75 12 to 18 inch (s) 75 12 to 18 inch (s) 1.00 18 to 24 inch (s) 1.50 2 to 3 feet (s) 2.50  DEUTZIA Candidissima. Snowflake 16 to 12 inch 1-yr. (c) 2.00	100.00  30.00 40.00 60.00 100.00  15.00 20.00 25.00  15.00 20.00 25.00  6.00 8.00 12.00 18.00 Deutzia. 15.00	12 to 18 inch (tr) 18 to 24 inch (tr) 2 to 3 feet (tr) Rothomagensis Lilac. Deep-pur 18 to 24 inch 1-yr. PERSICA. Persian White Lilac 2 to 3 feet (tr) br. 3 to 4 feet (tr) br. 10 to 12 inch (s) 11 to 18 inch (s) 12 to 18 inch (s) 13 to 24 inch (s) 14 to 12 inch, from cuttings 15 to 18 inch, from cuttings 16 to 12 inch, from cuttings 17 to 18 inch, from cuttings 18 to 24 inch (tr) 2 to 3 feet (tr) 3 to 4 feet (tr)  Fragrantissima. Paie-pink Flow 6 to 12 inch, from cuttings 12 to 18 inch, from cuttings 13 to 4 feet (tr) 14 to 18 inch, from cuttings 15 to 18 inch, from cuttings 16 to 19 inch, from cuttings 17 to 18 inch, from cuttings 18 to 24 inch, from cuttings 19 to 19 inch, from cuttings 10 to 19 inch, from cuttings 11 to 19 inch, from cuttings 12 to 18 inch, from cuttings 13 to 4 feet (tr) 15 Morrowi. White Flowers 16 to 12 inch, from cuttings 17 to 18 inch, from cuttings 18 to 19 inch, from cuttings 19 to 19 inch, from cuttings 10 to 19 inch, from cuttings 11 to 18 inch, from cuttings	10.00 15.00 20.00 pie (Per 10.00 25.00 30.00 a 3.00 4.00 5.00 ite Flo 2.00 3.00 4.00 12.00 vers. 2.00 3.00 4.00 7.50 12.00 18.00 2.00 3.00	20.00 30.00 40.00 wers. 15.00 20.00 30.00 50.00 15.00 20.00 30.00 60.00
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 5.00 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr 7.00 2 to 3 feet 2-yr 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. (tr) 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 3.50  Stolonifera. Red-ozier Dogwood. 6 to 12 inch (s) 7.5 12 to 18 inch (s) 1.00 18 to 24 inch (s) 1.50 2 to 3 feet (s) 2.50  DEUTZIA Candidissima. Snowliake 16 to 12 inch 1-yr. (c) 2.50 18 to 24 inch 1-yr. (c) 2.50	100.00  30.00 40.00 60.00 100.00  15.00 20.00 25.00  15.00 8.00 12.00 12.00 12.00 15.00 Deutzia. 15.00 20.00	12 to 18 inch (tr) 18 to 24 inch (tr) 2 to 3 feet (tr) Nothomagensis Lilac. Deep-pur 18 to 24 inch 1-yr. PERSICA. Persian White Lilac 2 to 3 feet (tr) br. 3 to 4 feet (tr) br. 10 to 12 inch (s) 11 to 18 inch (s) 12 to 18 inch (s) 13 to 24 inch (s) 14 to 12 inch, from cuttings 15 to 12 inch, from cuttings 16 to 12 inch, from cuttings 17 to 18 inch (tr) 18 to 24 inch (tr) 19 to 3 feet (tr) 10 to 3 feet (tr) 11 to 12 inch, from cuttings 12 to 13 inch, from cuttings 13 to 4 feet (tr) 14 to 15 inch, from cuttings 15 to 16 inch, from cuttings 16 to 17 inch, from cuttings 17 to 18 inch, from cuttings 18 to 24 inch (tr) 19 to 18 inch, from cuttings 19 to 19 inch, from cuttings 10 to 19 inch, from cuttings 11 to 19 inch, from cuttings 12 to 18 inch, from cuttings 13 to 4 feet (tr) 15 Morrowi. White Flowers 16 to 12 inch, from cuttings 17 to 18 inch, from cuttings 18 to 24 inch, from cuttings 19 to 19 inch, from cuttings 10 to 19 inch, from cuttings 11 to 18 inch, from cuttings	10.00 15.00 20.00 20.00 20.00 20.00 20.00 30.00 30.00 30.00 4.00 5.00 10.00 4.00 6.00 10.00 12.00 vers. 2.00 3.00 4.00 6.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00	20.00 30.06 40.00 wers. 15.06 20.00 30.00 50.00 80.00 15.00 20.00 30.00 60.00
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 3.50 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr 7.00 2 to 3 feet 2-yr 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. (tr) 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.00 18 to 24 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 3.50  Stolonifera. Red-ozier Dogwood. 6 to 12 inch (s) 75 12 to 18 inch (s) 1.50 2 to 3 feet (s) 2.50  DEUTZIA Candidissima. Snowlake 1 6 to 12 inch 1-yr. (c) 2.50 18 to 24 inch 1-yr. (c) 3.00  Crenata. Double Pink Deutzia.	100.00  30.00 40.00 60.00 100.00  15.00 20.00 25.00  6.00 8.00 12.00 12.00 18.00 Deutzia. 15.00 25.00	12 to 18 inch (tr) 18 to 24 inch (tr) 2 to 3 feet (tr) Nothomagensis Lilac. Deep-pur 18 to 24 inch 1-yr. PERSICA. Persian White Lilac 2 to 3 feet (tr) br. 3 to 4 feet (tr) br. 1 LINDERA Benzoin. Spice Busl 6 to 12 inch (s) 12 to 18 inch (s) 18 to 24 inch (s) 19 to 12 inch, from cuttings. 10 to 12 inch, from cuttings. 11 to 18 inch (tr) 12 to 18 inch (from cuttings. 12 to 18 inch, from cuttings. 13 to 24 inch (tr) 14 to 24 inch (tr) 15 to 3 feet (tr) 16 to 12 inch, from cuttings. 17 to 18 inch, from cuttings. 18 to 24 inch (tr) 2 to 3 feet (tr) 3 to 4 feet (tr) 4 to 18 inch, from cuttings. 4 to 19 inch, from cuttings. 5 to 10 inch, from cuttings. 6 to 10 inch, from cuttings. 7 to 3 feet (tr) 8 to 24 inch (tr) 2-yr. 7 to 4 feet (tr) 17 Morrowi. White Flowers. 18 to 24 inch, from cuttings. 19 to 18 inch, from cuttings. 10 to 18 inch, from cuttings. 11 to 18 inch, from cuttings. 12 to 18 inch, from cuttings. 13 to 24 inch, from cuttings. 14 to 18 inch, from cuttings. 15 to 18 inch, from cuttings. 16 to 24 inch, from cuttings. 17 to 18 inch, from cuttings. 18 to 24 inch, from cuttings.	10.00 15.00 20.00 20.00 20.00 20.00 20.00 30.00 30.00 30.00 30.00 4.00 5.00 4.00 4.00 4.00 4.00 4.00	20.00 30.06 40.06 wers. 15.06 20.00 30.00 50.00 80.06 15.00 20.00 30.00 60.00
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush. Lining out 5.00 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr 7.00 2 to 3 feet 2-yr 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. (tr) 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.00 18 to 24 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 5.50  Stolonifera. Red-ozier Dogwood. 6 to 12 inch (s) 75 12 to 18 inch (s) 1.00 18 to 24 inch (s) 1.50 2 to 3 feet (s) 2.50  DEUTZIA Candidissima. Snowliake 1 6 to 12 inch 1-yr. (c) 2.50 18 to 24 inch 1-yr. (c) 2.50 18 to 24 inch 1-yr. (c) 3.00  Crenata. Double Pink Deutzia. 6 to 12 inch 1-yr. (c) 3.00	100.00  30.00 40.00 60.00 100.00  15.00 25.00  15.00 25.00  6.00 8.00 12.00 18.00 Deutzia. 15.00 25.00  15.00 15.00 15.00	12 to 18 inch (tr) 18 to 24 inch (tr) 2 to 3 feet (tr) 18 to 24 inch (tr) 2 to 3 feet (tr) 18 to 24 inch 1-yr.  PERSICA. Persian White Lilac 2 to 3 feet (tr) br. 3 to 4 feet (tr) br. 11 INDERA Benzoin. Spice Bush 6 to 12 inch (s) 12 to 18 inch (s) 13 to 24 inch (s) 14 to 12 inch, from cuttings. 15 to 12 inch, from cuttings. 16 to 12 inch, from cuttings. 17 to 18 inch (tr) 18 to 24 inch (tr) 2 to 3 feet (tr) 19 to 4 feet (tr) 10 to 4 feet (tr) 10 to 4 feet (tr) 11 to 12 inch, from cuttings. 12 to 18 inch, from cuttings. 13 to 4 feet (tr) 14 to 15 inch, from cuttings. 15 to 16 inch, from cuttings. 16 to 17 inch, from cuttings. 17 to 18 inch, from cuttings. 18 to 24 inch (tr) 2-yr. 19 to 3 feet (tr)  Morrowi. White Flowers. 10 to 12 inch, from cuttings. 11 to 18 inch, from cuttings. 12 to 18 inch, from cuttings. 13 to 24 inch, from cuttings. 14 to 15 inch, from cuttings. 15 to 16 inch, from cuttings. 16 to 17 inch, from cuttings. 17 to 18 inch, from cuttings. 18 to 24 inch, from cuttings. 19 to 24 inch, from cuttings. 10 to 24 inch, from cuttings. 11 to 24 inch, from cuttings. 12 to 18 inch, from cuttings. 13 to 24 inch, from cuttings. 14 to 24 inch, from cuttings. 15 to 24 inch, from cuttings. 16 to 24 inch, from cuttings. 17 to 3 feet, transpianted.	10.00 15.00 20.00 20.00 20.00 20.00 20.00 30.00 30.00 30.00 30.00 4.00 5.00 4.00 4.00 4.00 4.00 4.00	20.00 30.06 40.00 wers. 15.06 20.00 30.00 50.00 80.00 15.00 20.00 30.00 60.00
12 to 18 inch (tr)	100.00  30.00 40.00 60.00 100.00  15.00 25.00  15.00 25.00  6.00 8.00 12.00 18.00 20.00 25.00  15.00 20.00 25.00	12 to 18 inch (tr) 18 to 24 inch (tr) 2 to 3 feet (tr) Rothomagensis Lilac. Deep-pur 18 to 24 inch 1-yr. PERSICA. Persian White Lilac 2 to 3 feet (tr) br. 3 to 4 feet (tr) br. LINDERA Benzoin. Spice Busl 6 to 12 inch (s) 12 to 18 inch (s) 13 to 24 inch (s) 14 to 12 inch, from cuttings 15 to 18 inch, from cuttings 16 to 12 inch, from cuttings 17 to 18 inch, from cuttings 18 to 24 inch, from cuttings 19 to 3 feet (tr) 3 to 4 feet (tr) Fragrantissima. Paie-pink Flow 6 to 12 inch, from cuttings 10 to 18 inch, from cuttings 11 to 18 inch, from cuttings 12 to 18 inch, from cuttings 13 to 4 feet (tr) 14 to 24 inch (tr) 2-yr. 15 to 3 feet (tr) 16 to 24 inch (tr) 10 from cuttings 17 to 18 inch, from cuttings 18 to 24 inch (tr) 2-yr. 19 to 3 feet (tr) 10 Morrowi. White Flowers 11 to 12 inch, from cuttings 12 to 18 inch, from cuttings 13 to 24 inch, from cuttings 14 to 15 inch, from cuttings 15 to 16 inch, from cuttings 16 to 17 inch, from cuttings 17 to 18 inch, from cuttings 18 to 24 inch (tr) 2-yr. 2 to 3 feet, transplanted 2 to 3 feet, transplanted 2 transplanted 3 transplanted 3 transplanted 4 transplanted	10.00 15.00 20.00 20.00 10.00 10.00 20.00 10.00 3.00 4.00 5.00 4.00 6.00 10.00 12.00 4.00 7.50 12.00 3.00 4.00 7.50 12.00 3.00	20.00 30.00 40.00 wers. 15.00 20.00 30.00 50.00 80.00 15.00 20.00 30.00 60.00
12 to 18 inch (tr) 8.00 18 to 24 inch (tr) 12.00 2 to 3 fect heavy 20.00  BUDDLEIA Butterfly Bush.  Lining out 5.00 12 to 18 inch 1-yr. Lining out 5.00 18 to 24 inch 2-yr 7.00 2 to 3 feet 2-yr 12.00  COMPTONIA Asplenifolia. 13 to 24 inch 2-yr. (tr) 12.00  CORNUS Amomum. Silky Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.00 18 to 24 inch (c) 3.50  Sanguinea. English Dogwood. 6 to 12 inch (c) 2.00 12 to 18 inch (c) 3.50  Satolonifera. Red-ozier Dogwood. 6 to 12 inch (s) 75 12 to 18 inch (s) 1.50 2 to 3 feet (s) 2.50  DEUTZIA Candidissima. Snowflake 1 6 to 12 inch 1-yr. (c) 2.50 18 to 24 inch 1-yr. (c) 3.00  Crenata. Double Pink Deutzia. 6 to 12 inch 1-yr. (c) 2.50 18 to 24 inch 1-yr. (c) 3.00	100.00  30.00 40.00 60.00 100.00  15.00 25.00  15.00 25.00  6.00 8.00 12.00 18.00 Deutzia. 15.00 25.00  15.00 15.00 15.00	12 to 18 inch (tr) 18 to 24 inch (tr) 2 to 3 feet (tr) Nothomagensis Litac. Deep-pur 18 to 24 inch 1-yr. PERSICA. Persian White Lilac 2 to 3 feet (tr) br. 3 to 4 feet (tr) br. 10 to 12 inch (s) 11 to 18 inch (s) 12 to 18 inch (s) 13 to 24 inch (s) 14 to 12 inch, from cuttings 15 to 18 inch, from cuttings 16 to 12 inch, from cuttings 17 to 18 inch, from cuttings 18 to 24 inch (tr) 2 to 3 feet (tr) 3 to 4 feet (tr)  Fragrantissima. Paie-pink Flow 6 to 12 inch, from cuttings 12 to 18 inch, from cuttings 13 to 24 inch (tr) 2 to 3 feet (tr) 3 to 4 feet (tr)  Fragrantissima. Paie-pink Flow 6 to 12 inch, from cuttings 18 to 24 inch (tr) 2-yr. 2 to 3 feet (tr) 3 to 4 feet (tr) Morrowi. White Flowers 6 to 12 inch, from cuttings 18 to 24 inch, from cuttings 19 to 18 inch, from cuttings 10 to 18 inch, from cuttings 11 to 18 inch, from cuttings 12 to 18 inch, from cuttings 13 to 24 inch, from cuttings 14 to 24 inch, from cuttings 15 to 24 inch, from cuttings 16 to 24 inch, from cuttings 17 to 18 inch, from cuttings 18 to 24 inch, from cuttings 19 to 3 feet, transpianted 17 Tartarica Alba. White Flower. 18 to 12 inch, from cuttings	10.00 15.00 20.00 20.00 20.00 20.00 20.00 20.00 30.00 30.00 30.00 4.00 5.00 10.00 12.00 4.00 4.00 4.00 4.00 4.00 4.00 4.00	20.00 30.00 40.00 wers. 15.00 20.00 30.00 50.00 80.00 15.00 20.00 30.00 60.00
12 to 18 inch (tr)	100.00  30.00 40.00 60.00 100.00  15.00 20.00 25.00  15.00 20.00 12.00 18.00 20.00 25.00  15.00 20.00 25.00	12 to 18 inch (tr) 18 to 24 inch (tr) 2 to 3 feet (tr) Nothomagensis Lilac. Deep-pur 18 to 24 inch 1-yr. PERSICA. Persian White Lilac 2 to 3 feet (tr) br. 3 to 4 feet (tr) br. 1 LINDERA Benzoin. Spice Busl 6 to 12 inch (s) 12 to 18 inch (s) 13 to 24 inch (s) 14 to 12 inch, from cuttings 15 to 12 inch, from cuttings 16 to 12 inch, from cuttings 17 to 18 inch, from cuttings 18 to 24 inch (tr) 19 to 3 feet (tr) 19 to 4 feet (tr) 10 to 4 feet (tr) 11 to 12 inch, from cuttings 12 to 18 inch, from cuttings 13 to 24 inch (tr) 14 to 15 inch, from cuttings 15 to 16 inch, from cuttings 16 to 17 inch, from cuttings 17 to 18 inch, from cuttings 18 to 24 inch (tr) 2-yr. 19 to 3 feet (tr) 10 Morrowi. White Flowers 11 to 12 inch, from cuttings 12 to 18 inch, from cuttings 13 to 24 inch, from cuttings 14 to 24 inch, from cuttings 15 to 16 inch, from cuttings 16 to 17 inch, from cuttings 17 to 18 inch, from cuttings 18 to 24 inch, from cuttings 19 to 24 inch, from cuttings 20 to 3 feet, transpianted 21 to 12 inch, from cuttings 22 to 13 inch, from cuttings 23 to 15 inch, from cuttings 24 to 16 inch, from cuttings 25 to 17 inch, from cuttings 26 to 17 inch, from cuttings 27 to 18 inch, from cuttings 28 to 18 inch, from cuttings 29 to 18 inch, from cuttings 20 to 18 inch, from cuttings 21 to 18 inch, from cuttings 21 to 18 inch, from cuttings 21 to 18 inch, from cuttings	10.00 15.00 20.00 20.00 20.00 20.00 20.00 30.00 30.00 30.00 30.00 4.00 5.00 30.00 4.00 6.00 10.00 12.00 90.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00 12.00	20.00 30.06 40.00 wers. 15.06 20.00 30.00 50.00 80.00 15.00 20.00 30.00 60.00 15.00 20.00 30.00 60.00
12 to 18 inch (tr)	100.00  30.00 40.00 60.00 100.00  15.00 20.00 25.00  15.00 8.00 12.00 12.00 12.00 25.00  15.00 20.00 25.00	12 to 18 inch (tr) 18 to 24 inch (tr) 2 to 3 feet (tr) Nothomagensis Lilac. Deep-pur 18 to 24 inch 1-yr. PERSICA. Persian White Lilac 2 to 3 feet (tr) br. 3 to 4 feet (tr) br. 1 LINDERA Benzoin. Spice Busl 6 to 12 inch (s) 12 to 18 inch (s) 13 to 24 inch (s) 14 to 12 inch, from cuttings. 15 to 18 inch, from cuttings. 16 to 12 inch, from cuttings. 17 to 18 inch (tr) 18 to 24 inch (tr) 19 to 3 feet (tr) 10 to 4 feet (tr) 11 to 4 feet (tr) 12 to 18 inch, from cuttings. 13 to 4 feet (tr) 15 to 4 feet (tr) 16 to 12 inch, from cuttings. 17 to 18 inch, from cuttings. 18 to 24 inch (tr) 2-yr. 2 to 3 feet (tr) 3 to 4 feet (tr) 18 to 24 inch (tr) 2-yr. 3 to 4 feet (tr) Morrowi. White Flowers. 19 to 18 inch, from cuttings. 11 to 18 inch, from cuttings. 12 to 18 inch, from cuttings. 13 to 24 inch, from cuttings. 14 to 24 inch, from cuttings. 15 to 24 inch, from cuttings. 16 to 24 inch, from cuttings. 17 to 18 inch, from cuttings. 18 to 24 inch, from cuttings. 19 to 19 inch, from cuttings. 10 to 19 inch, from cuttings. 11 to 19 inch, from cuttings. 12 to 18 inch, from cuttings. 13 to 18 inch, from cuttings. 14 to 18 inch, from cuttings. 15 to 18 inch, from cuttings. 16 to 19 inch, from cuttings. 17 to 18 inch, from cuttings. 18 to 24 inch, from cuttings. 19 to 19 inch, from cuttings. 10 to 19 inch, from cuttings. 11 to 19 inch, from cuttings. 12 to 18 inch, from cuttings.	10.00 15.00 20.00 20.00 20.00 20.00 20.00 30.00 30.00 3.00 4.00 5.00 ite Flo 2.00 3.00 4.00 6.00 10.00 112.00 12.00 18.00 2.00 3.00 4.00 7.50 12.00 18.00 2.00 3.00 4.00 7.50 12.00 4.00 7.50 12.00 4.00 7.50 12.00 4.00 7.50 12.00	20.00 30.06 40.00 wers. 15.06 20.00 30.00 50.00 80.00 15.00 20.00 30.00 60.00 90.00
12 to 18 inch (tr)	100.00  30.00 40.00 60.00 100.00  15.00 25.00  15.00 25.00  12.00 18.00 12.00 25.00  15.00 20.00 25.00	12 to 18 inch (tr) 18 to 24 inch (tr) 2 to 3 feet (tr) Nothomagensis Lilac. Deep-pur 18 to 24 inch 1-yr. PERSICA. Persian White Lilac 2 to 3 feet (tr) br. 3 to 4 feet (tr) br. 1 INDERA Benzoin. Spice Bush 6 to 12 inch (s) 12 to 18 inch (s) 13 to 24 inch (s) 14 to 12 inch, from cuttings. 15 to 12 inch, from cuttings. 16 to 12 inch, from cuttings. 17 to 18 inch (tr) 18 to 24 inch (tr) 19 to 3 feet (tr) 10 to 4 feet (tr) 10 to 4 feet (tr) 11 to 12 inch, from cuttings. 12 to 18 inch, from cuttings. 13 to 4 feet (tr) 14 to 15 inch, from cuttings. 15 to 16 inch, from cuttings. 16 to 17 inch, from cuttings. 17 to 18 inch, from cuttings. 18 to 18 inch, from cuttings. 19 to 19 inch, from cuttings. 11 to 19 inch, from cuttings. 12 to 19 inch, from cuttings. 13 to 4 feet (tr) 14 morrowi. White Flowers. 15 to 12 inch, from cuttings. 16 to 12 inch, from cuttings. 17 to 18 inch, from cuttings. 18 to 24 inch, from cuttings. 19 to 19 inch, from cuttings. 10 to 19 inch, from cuttings. 11 to 18 inch, from cuttings. 12 to 18 inch, from cuttings. 13 to 24 inch, from cuttings. 14 to 18 inch, from cuttings. 15 to 18 inch, from cuttings. 16 to 12 inch, from cuttings. 17 to 18 inch, from cuttings. 18 to 24 inch, from cuttings. 19 to 24 inch, from cuttings. 10 to 24 inch, from cuttings. 11 to 18 inch, from cuttings. 12 to 18 inch, from cuttings.	10.00 15.00 20.00 20.00 20.00 20.00 10.00 3.00 4.00 5.00 6.00 12.00 4.00 7.50 12.00 12.00 12.00 12.00 3.00 4.00 7.50 12.00 3.00 4.00 7.50 12.00 3.00 4.00 7.50 12.00	20.00 30.06 40.00 wers. 15.06 20.00 30.00 50.00 80.06 15.00 20.00 30.00 60.00 90.00 15.00 20.00 30.00 60.00 90.00
12 to 18 inch (tr)	100.00  30.00 40.00 60.00 100.00  15.00 20.00 25.00  15.00 8.00 12.00 12.00 12.00 25.00  15.00 20.00 25.00	12 to 18 inch (tr) 18 to 24 inch (tr) 2 to 3 feet (tr) Nothomagensis Lilac. Deep-pur 18 to 24 inch 1-yr. PERSICA. Persian White Lilac 2 to 3 feet (tr) br. 3 to 4 feet (tr) br. 1 LINDERA Benzoin. Spice Busl 6 to 12 inch (s) 12 to 18 inch (s) 13 to 24 inch (s) 14 to 12 inch, from cuttings. 15 to 18 inch, from cuttings. 16 to 12 inch, from cuttings. 17 to 18 inch (tr) 18 to 24 inch (tr) 19 to 3 feet (tr) 10 to 4 feet (tr) 11 to 4 feet (tr) 12 to 18 inch, from cuttings. 13 to 4 feet (tr) 15 to 4 feet (tr) 16 to 12 inch, from cuttings. 17 to 18 inch, from cuttings. 18 to 24 inch (tr) 2-yr. 2 to 3 feet (tr) 3 to 4 feet (tr) 18 to 24 inch (tr) 2-yr. 3 to 4 feet (tr) Morrowi. White Flowers. 19 to 18 inch, from cuttings. 11 to 18 inch, from cuttings. 12 to 18 inch, from cuttings. 13 to 24 inch, from cuttings. 14 to 24 inch, from cuttings. 15 to 24 inch, from cuttings. 16 to 24 inch, from cuttings. 17 to 18 inch, from cuttings. 18 to 24 inch, from cuttings. 19 to 19 inch, from cuttings. 10 to 19 inch, from cuttings. 11 to 19 inch, from cuttings. 12 to 18 inch, from cuttings. 13 to 18 inch, from cuttings. 14 to 18 inch, from cuttings. 15 to 18 inch, from cuttings. 16 to 19 inch, from cuttings. 17 to 18 inch, from cuttings. 18 to 24 inch, from cuttings. 19 to 19 inch, from cuttings. 10 to 19 inch, from cuttings. 11 to 19 inch, from cuttings. 12 to 18 inch, from cuttings.	10.00 15.00 20.00 20.00 20.00 20.00 10.00 3.00 4.00 5.00 6.00 12.00 4.00 7.50 12.00 12.00 12.00 12.00 3.00 4.00 7.50 12.00 3.00 4.00 7.50 12.00 3.00 4.00 7.50 12.00	20.00 30.06 40.00 wers. 15.06 20.00 30.00 50.00 80.00 15.00 20.00 30.00 60.00 90.00

		PA	GE 3		
Tartarica Rosea. Pink Flowe	rs.		Douglasi. Deep Pink Spirea.		
6 to 12 inch, from cuttings	2.00	15.00	6 to 12 nich 1-yr. (c)	3.00	25.80
12 to 18 inch, from cuttings	3.00	20.00	12 to 18 inch 1-yr. (c)	3.50	30.00
18 to 24 inch, from cuttings	4.00		18 to 24 inch 1-yr. (c)	4.00	35.00
18 to 24 inch transplanted 2 to 3 feet, transplanted	7.50	60.00	Opulifolia.		
3 to 4 feet (tr)	15.00	90.00		3.00	25.00
MALLOW MARVELS.	10.0	'	18 to 24 inch 1-yr. (c)	. 4.00	35.00
A woody plant of rather la	urge gro	wth. A	2 to 3 feet, 2-yr. (c)	. 6.00	50.00
race derived from the commo	n nativ	e Hibis-	Opulifolia Aurea. Golden.	. 12.00	
cus. Mixed colors, various sha	des of r	ed, pink	12 to 18 inch 1-yr. (c)	. 5.00	
and white.			18 to 24 inch 1-yr. (c)	7.00	
1 year Seedlings No. 1	1.25	10.00	2 to 3 feet 1-yr. (c)	. 10.00	
1 year Seedlings No. 2	1.00	8.00	Reevesiana.		
2 year Transplanted.	3.00	25.00	6 to 12 inch 1-yr. (c)	. 2.50	20.00
PHILADELPHUS Coronarius. 6 to 12 inch 1-yr. (c)	MOCK		12 to 18 inch 1-yr. (c)	. 3.00	25.00
12 to 18 inch 1-yr. (c)	<b>2.5</b> 0	20.00	18 to 24 inch 1-yr. (c)	4.00	35 <b>.0</b> 0
18 to 24 inch 1-yr. (c)	4.00	20.00 30.00	18 to 24 inch (tr)	. 10.00	
2 to 3 feet 1-yr. (c)	5.00	40.00	? to 3 feet (tr)	12.50	00.00
Gerdonianus.	0.00	20.00	Thumbergi—Lining out	. 7.00	60.00
6 to 12 inch 1-yr. (c)	2.50	20.00	18 to 24 inch (tr) well br	15.00	
12 to 18 inch 1-yr. (c)	3.00	20.00	2 to 3 feet (tr) well br	20.00	
18 to 24 inch 1-yr. (c)	4.00	35.00	Tomentosa.	. 20.00	
18 to 24 inch 2-yr. (tr)	5.00		18 to 24 inch (tr) 2-yr	7.50	
2 to 3 feet 2-yr. (tr)	8.00		2 to 3 feet (tr) 2-yr	10.00	
Mont Blanc.			Van Houtte.		
6 to 12 inch 1-yr. (c)	2.50	20.00	Lining out	2.00	15.00
12 to 18 inch 1-yr. (c)	3.00	20.00	6 to 12 inch 1-yr. (c)	2.50	20.00
18 to 24 inch 1-yr. (c)	4.00	35.00	12 to 18 inch 1-yr. (c)	3.00	25.00
Nivalis.			18 to 24 inch 1-yr. (c)	4.00	30.00
6 to 12 inch 1-yr. (c)	2.50	20.00	12 to 18 inch 2-yr. (c)	5.00	35.00
12 to 18 inch 1-yr. (c)	3.00	20.00	18 to 24 inch 2-yr. (c)	6.00	45,00
18 to 24 inch 1-yr. (c)	. 4.00	30.00	18 to 24 inch (tr)		60. <b>00</b>
18 to 24 inch 2-yr. (c)	. 5.00	45.00	2 to 3 feet (tr)		00.00
2 to 3 feet 2-yr. (c)	. 6.00	55.00	3 to 4 feet (tr)		
Zeyheri.			SYMPHORICARPOS Vulgaris.		berry.
6 to 12 inch 1-yr. (c)	. 3.00	15.00	6 to 12 inch (c)	1.50	10.00
12 to 18 inch 1-yr. (c)	. 3.50	20.00	12 to 18 inch (c)	2.00	15.00
18 to 24 inch 1-yr. (c)	. 4.00	30.00	18 to 24 inch (c)	2.50	20.00
RHUS Copallina. Black Suma			18 to 24 inch 2-yr. (tr)	4.00	35 <b>.0</b> 0
\$ to 12 inch (s)	80	7.00	TAMARIX Africana.		
18 to 24 inch (s)	. 1.25	10.00	18 to 24 inch (tr)	8.00	
	. 2.00	15.00	2 to 3 feet (tr)	12.00	
Glabra. Smooth Sumach. 2 to 3 feet	250	00.00	VITEX Agnus Castus.	2.00	15.00
3 to 4 feet.	. 2.50 . 4.00	20.00	6 to 12 inch 1-yr. (s)	2.00 2.50	15.00 20.00
4 to 6 feet	. 5.00	30.00 40.00	18 to 24 inch 1-yr. (s)	3.00	25.00
RHUS Aromatica.	. 0.00	40.00	2 to 3 feet 1-yr. (s)	4.00	35.00
6 to 12 inch 1 year seedlings	4.00		1S to 24 inch (tr)	5.00	00.00
12 to 18 inch 1 year seedlings			2 to 3 feet (tr)	6.00	
18 to 24 inch 1 year seedlings	8.00		Incissa Vitex.		
Typhina. Staghorn Sumach.			6 to 12 inch 1-yr. (s)	2.00	15.00
6 to 12 inch (s)	1.00	8.00	12 to 18 inch 1-yr. (s)	2.50	20.00
12 to 18 inch (s)		10.00	18 to 24 inch 1-yr. (s)	3.00	25.00
18 to 24 inch (s)		15.00	2 to 3 feet 1-yr. (s)	4.00	35.00
2 to 3 feet (s)		20.00	6 to 12 inch 1-yr. (c)	3.00	20.00
6 to 12 inch (s)		5.00	12 to 18 inch 1-yr. (c)	4.00	30.00
12 to 18 inch (s)		7.50	18 to 24 inch 1-yr. (c)	5.00	40.00
18 to 24 inch (s)		10.00	18 to 24 inch (c) 2-yr. 3 brup	8.00	70.00
Acutiloba. Cut-leaf Elder.		-	2 to 3 feet (c) 2-yr. 3 brup		80.00
6 to 12 inch 1-yr. (c)	1.50	10.00	2 to 3 feet (tr) 2-yr		
12 to 18 inch 1-yr. (c)	2.00	15.00	3 to 4 feet (tr) 2-yr		
18 to 24 inch 1-yr. (c)	2.50	22.50	Candida.		
2 to 3 feet 1-yr. (c)		30.00	12 to 18 inch 1-yr. (c)	6.00	
2 to 3 feet 2-yr. (tr)	5.00		18 to 24 inch 1-yr. (c)	8.00	
3 to 4 feet 2-yr. (tr)	8.00		Fink.	3.00	20.00
SPIREA. Anthony Waterer. Divisions Rooted	5.00	40.00	6 to 12 inch 1-yr. (c)	4.00	30.00
6 to 12 inch 1-yr. (tr)		80.00	18 to 24 inch 1-yr. (c)	5.00	40.00
12 to 15 inch (tr)	15.00	00.00	12 to 18 inch 2-yr. (c) br	5.00	40.00
15 to 18 inch 2-yr. (tr)			18 to 24 inch 2-yr. (c) br	7.00	60.00
13 to 24 inch 2-yr. (tr)			2 to 3 feet 2-yr. (c) br	10.00	
Billardi Alba. White Billiard S	spirea.		2 to 3 feet (tr)	12.00	
6 to 12 inch 1-yr. (c)	2.50	20.00	3 to 4 feet (tr)	18.00	
12 to 18 inch 1-yr. (c)	3.00	25.00	Hendersonia.	0.00	00.00
18 to 24 inch 1-yr. (c)	4.00	35.00	6 to 12 inch 1-yr c(.)	3.00	20.00
18 to 24 inch (tr) heavy	5.00	45.00	12 to 18 inch 1-yr. (c)	4.00	30.00
2 to 3 feet (tr) heavy		60.00 75.00	18 to 24 inch 1-yr. (c)	5.00 5.00	40.00 40.00
Billardi Pink.	0.00	75.00	18 to 24inc h 2-yr. br	7.00	60.00
6 to 12 inch 1-yr. (c)	4.00		2 to 3 feet (tr)		55.00
12 to 18 inch 1-yr. (c)			3 to 4 feet (tr)		
18 to 24 inch 1-yr. (c)	6.00		Madam Lemoine.		
Callosa Rosea. Pink Fortune S	pirea.		6 to 12 inch 1-yr. (c)	3.00	20.00
6 to 12 inch 1-yr. (c)	2.50	20.00	12 to 18 inch 1-yr. (c)	4.00	30.00
12 to 18 inch 1-yr. (c)	3.00	25.00	18 to 24 inch 1-yr. (e)	5.00	40.00
12 to 18 inch (tr)		40.00		5.00	40.00
18 to 24 inch 2-yr. (tr) heavy	7.50	60.00	18 to 24 inch 2-yr. br		60.00
2 to 3 feet 2-yr. (tr) heavy 3 to 4 feet 2-yr. (tr) heavy	15.00	80.00 112.50	2 to 3 feet (tr) 3 to 4 feet (tr)		
J ( ) accord gramm				-5.50	

Danna	PAGE 4
Resea.	TUBE ROSE. Mexican.
6 to 12 inch 1-yr. (c) 3.00 25	00 No. 1 bulbs
12 to 18 inch 1-yr. (c) 4.00 30	2000
18 to 24 inch 1-yr. (c) 5.00 40 18 to 24 inch (tr) 10.00	FOREST AND SHADE TREES.
3 to 3 feet (tr) 12.00	TOREST AND SHADE TREES.
Variegated.	Nursery Grown Stock—(s) Seedlings; (tr)
6 to 12 inch 1-yr. (c) 4.00 35	OO Transplanted; (c) Cuttings.
12 to 18 inch 2-yr. (c) br 5.00 40	00
18 to 24 inch 2-yr. (c) br 7.00 60	ACER Dasycarpum. Silver Maple.
2 to 3 feet 2-yr. (c) br 10.00	6 to 12 inch (s)\$ .50 \$ 4.00
HARDY CLIMBING VINES AND CREEPER	12 to 18 inch (s)
MARDI CLIMBING VINES AND CREEPED	
Vines are useful in many ways. They gi	ve 3 to 4 feet (s)
quick results when planted on a new plan	e, 4 to 6 feet (s)
before trees and shrubs become established	d. 3 to 4 feet (tr) 12.00
For covering fences, rocks, walls, banks a	1d 4 to 6 feet (tr)
trellises, they are peculiarly adapted.	6 to 8 feet (tr)
AMEDICA OPERA OPER	
AMPELOPSIS Quinquefolia. Virginia Cree er (American Ivy.)	9-
Transplanted No. 1 6.00	6 to 12 inch 1-yr. (s)
Transplanted No. 2	13 to 18 inch 1-yr. (s)
ARISTOLOCHIA Tomentoso. Dutchina	
Pipe Vine.	3 to 4 feet 1-yr. (s)
· One year seedlings No. 1 2.50 17.	
One year seedlings No. 2 1.75 12	50 4 to 6 feet (tr)
BIGNONIA Radicans. Trumpet Creeper.	6 to 8 feet (tr)
	Saccharum. Sugar Maple.
One year transplanted 2.50 20	4 to 6 inch 1 ym (c) 100 ene
Two year transplanted 3.50 30. CLEMATIS Virginiana.	6 to 12 inch 1-yr. (s) 1.50 12.00
One year seedlings No. 1 3.50 30.	00
One year seedlings No. 2 2.50 20.	The state of the s
I.ONICERA Halliana. Hall's Japanese Hone	
suckle.	6 to 12 inch (s) 2.00 15.00
Small	00 12 to 18 inch (s) 2,50 20.00
Medium 1.25 10.	
One year transplanted No. 2. 5.00 35.	AESCULTIS Octobriles Velley Buckeye
Sempervirens. Scarlet Trumpet Honeysuck	
Lining Out	6 to 19 inch (c) 100 000
One year transplanted	, , , , , , , , , , , , , , , , , , , ,
One year seedlings No. 1 2.50 20.	AILANTHUS. Tree of Heaven.
One year seedlings No. 2 2.00 15.	0 10 111011 (0711111111111111111111111111111
PUERARIA Thunbergiana. Japan or Kud	
Bean.	2 to 3 feet (s) 2.00 15.00
One year seedlings No. 1 5.00 40.	00 3 to 4 feet (s) 4.00 30.00
One year seedlings No. 2 4.00 30.	
	ASIMINA Triloha Panaw Trae
VINCA Minor. Common Periwinkle.	ASIMINA Triloba. Papaw Tree.
VINCA Minor. Common Periwinkle. Small	ASIMINA Triloba. Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba. Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba. Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba. Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba. Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba. Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba. Papaw Tree. 6 to 12 inch 1-yr. (s) 2.50 12 to 18 inch 1-yr. (s) 3.50  ASII (Green) Fraxinus Viridis. 4 to 6 inch (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba. Papaw Tree.  6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba. Papaw Tree.  6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba. Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba. Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba, Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba. Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle. Small	ASIMINA Triloba, Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle. Small	ASIMINA Triloba. Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle. Small	ASIMINA Triloba. Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle. Small	ASIMINA Triloba. Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle. Small	ASIMINA Triloba, Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle. Small	ASIMINA Triloba, Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle. Small	ASIMINA Triloba, Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba, Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba, Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle. Small	ASIMINA Triloba, Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle. Small	ASIMINA Triloba. Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba, Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba, Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba, Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle. Small	ASIMINA Triloba. Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba, Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle.  Small	ASIMINA Triloba, Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle. Small	ASIMINA Triloba, Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle. Small	ASIMINA Triloba, Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle. Small	ASIMINA Triloba. Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle. Small	ASIMINA Triloba, Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle. Small	ASIMINA Triloba, Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle. Small	ASIMINA Triloba. Papaw Tree. 6 to 12 inch 1-yr. (s)
VINCA Minor. Common Periwinkle. Small	ASIMINA Triloba. Papaw Tree. 6 to 12 inch 1-yr. (s)

CATALPA Speciosa. Western 6 to 12 inch 1-yr. (s)	Catalan				
6 to 19 inch 1-xm (c)	Cataip	1.	Simoni. New Chinese Lombard	J'-	
0 W 12 mai 1-31. (5/	50	3.00	6 to 12 inch (c) whips	1.00	8.06
12 to 18 inch 1-yr. (s)	65	4.00	12 to 18 inch (c) whips	1.50	12.00
18 to 24 inch 1-yr. (s)	85	6.00	18 to 24 inch (c) whips	2.00	15.00
2 to 3 feet 1-yr. (s)	. 1.25	10.00	2 to 3 feet (c) whips	2.50	20.00
3 to 4 feet 1-yr. (s)	. 2.50	20.00	3 to 4 feet (c) whips	3.50	30.00
3 to 4 feet (tr)	4.00	35.00	4 to 6 feet (tr) br	15.00	
4 to 6 feet (tr) br	. 6.00	50.00	6 to 8 feet (tr) br	30.00	
C to 8 feet (tr) br		70.00	PRUNUS SEROTA. Wild Black	k Cher	Ty.
CERCIS Canadensis. American		Bud.	2 to 3 feet 2-yr. (s)	4.00	
4 to 6 inch (s)		7.00	3 to 4 feet 2-yr. (s)	6.00	
6 to 12 inch (s)		10.00	RHAMNUS Carolina. Native So		Buck-
12 to 18 inch (s)	. 2.00	15.00	thorn.	, ca ca a ca a ca	2511014
18 to 24 inch (s)		20.00	6 to 12 inch (s)	.80	7.00
2 to 3 feet (s)		30.00	12 to 18 inch (s)	1.25	10.00
2 to 3 feet (tr)	. 6.50	50.00	18 to 24 inch (s)	2.00	15.00
3 to 4 feet (tr)	. 8.00	75.00	2 to 3 feet (s)	2.50	20.00
CLADRASTIS Lutea. Yellow-			: to 4 feet (s)		30.00
4 to 6 inch (s)		8.00	3 to 4 feet (tr)	6.00	50.00
6 to 12 inch (s)		12.00	4 to 6 feet (tr)	9.00	75.00
12 to 18 inch (s)		18.00			
CORNUS Florida. White-flow			ROBINIA Pseudoacacia. Black		
			4 to 6 inch (s)	.30	2.50
6 to 12 inch 1-yr. (s)	. 4.00	20.00	6 to 12 inch (s)	.50	3.50
		30.00	12 to 18 inch (s)	.65	5.00
18 to 24 inch 1-yr. (s)		40.00	18 to 24 inch (s)	.85	7.00
2 to 3 (tr)			2 to 3 feet (s)	1.25	10.00
3 to 4 feet (tr)			Honey Locust. Gleditzia Triano	canthus	
DIOSPYROS Virginiana. Am	erican :	Persim-	4 to 6 inch (s)	.40	3.50
mon.			6 to 12 inch (s)	.65	5.00
4 to 6 inch (s)		2.50	12 to 18 inch (s)	.85	7.00
6 to 12 inch (s)		4.00	SALIX Willow. Basket Willow.		
12 to 18 inch (s)	80	7.00	C to 12 inch 1-yr. (c)	1.50	10.00
18 to 24 inch (s)	. 1.25	10.00	12 to 18 inch 1-yr. (c)	2.00	15.00
2 to 3 feet (s)	. 2.00	15.00	18 to 24 inch 1-yr. (c)	2.50	20.00
3 to 4 feet	. 3.00	25.00	2 to 3 feet 1-yr. (c)	3.00	25,00
FAGUS Americana. American	Beech				
4 to 6 inch (s)		3.00	Caprea. Pussy Willow.	1.50	10.00
6 to 12 inch (s)		5.00	6 to 12 inch 1-yr. (c)	1.50	15.00
12 to 18 inch (s)		7.50	12 to 18 inch 1-yr. (c)	2.00	20.00
JUGLANS Cinera. Butternuts			18 to 24 inch 1-yr. (c)	2.25	30.00
nuts.)	( *******	c wai-	2 to 3 feet 1-yr. (c)		40.00
6 to 12 inch (s)	. 1.00	8.00	3 to 4 feet 1-yr. (c)		60.00
12 to 18 inch (s)		12.00	4 to 6 feet 2-yr. (tr)	10.00	00.00
18 to 24 inch (s)		18.00	Golden Willow.		
		25.00	6 to 12 inch 1-yr. (c)	1.00	
2 to 3 feet (s)		35.00	12 to 18 inch 1-yr. (c)	2.00	
3 to 4 feet (s)		35.00	18 to 24 inch 1-yr. (c)	3.00	
4 to 6 feet (tr)			Viminalis, Common Willow.		
6 to 8 feet (tr)			12 to 18 inch 1-yr. (c)	2.00	15.00
8 to 10 feet (tr)	. 00.00		18 to 24 inch 1-yr. (c)		20.00
Nigra. Black Walnuts.			2 to 3 feet 1-yr. (c)		25.00
6 to 12 inch (s)		8.00	SASSAFRAS Varifolium. Comm		
1? to 18 inch (s)	. 1.50	12.00	6 to 12 inch (s)	.50	4.00
Sieboldiana. Japan Walnut.			12 to 18 inch (s)	.80	7.00
3 to 4 feet (tr)	. 40.00		18 to 24 inch (s)	1.25	10.00
4 to 6 feet (tr)	60.00			2120	
	. 80.00		SYCAMORE.		
6 to 8 feet (tr)	~	Tee.	6 to 12 inch 1-yr. (s)	2.00	20.00
LIRIODENDRON Tulipifera.	Tulip 1			3.00	20.00
LIRIODENDRON Tulipifera.	-	6.00	12 to 18 inch 1-yr. (s)	4.00	30.00
LIRIODENDRON Tulipifera. 6 to 12 inch (s)	75		12 to 18 inch 1-yr. (s)	4.00 5.00	30.00 40.00
LIRIODENDRON Tulipifera.	.75	6.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00	30.00
LIRIODENDRON Tulipifera. 6 to 12 inch (s)		6.00 8.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm.	30.00 40.00 50.00
LIRIODENDRON Tulipifera. 6 to 12 inch (s)	75 1.00 1.50 2.00	6.00 8.00 10.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00	30.00 40.00 50.00
LIBIODENDRON Tulipifera. 6 to 12 inch (s)	75 1.00 1.50 2.00 3.00	6.00 8.00 10.00 15.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60	30.00 40.00 50.00 3.90 4.00
LIRIODENDRON Tulipifera. 6 to 12 inch (s)	75 1.00 1.50 2.00 3.00 3.00	6.00 8.00 10.00 15.00 25.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40	30.00 40.00 50.00
LIRIODENDRON Tulipifera.  ô to 12 inch (s)		6.00 8.00 10.00 15.00 25.00 25.00 35.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60	30.00 40.00 50.00 3.90 4.00
LIRIODENDRON Tulipifera.  ô to 12 inch (s)	75 1.00 1.50 2.00 3.00 3.00	6.00 8.00 10.00 15.00 25.00 25.00 35.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60	30.00 40.00 50.00 3.90 4.00
LIRIODENDRON Tulipifera. 6 to 12 inch (s)	75 . 1.00 . 1.50 . 2.00 . 3.00 . 3.00 . 4.00 exas U:	6.00 8.00 10.00 15.00 25.00 25.00 35.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60 .80	30.00 40.00 50.00 3.90 4.00 6.00
LIRIODENDRON Tulipifera. 6 to 12 inch (s)	75 . 1.00 . 1.50 . 2.00 . 3.00 . 3.00 . 4.00 exas U:	6.00 8.00 10.00 15.00 25.00 25.00 35.00 mbrella	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60 .80	30.00 40.00 50.00 3.90 4.00 6.00
LIRIODENDRON Tulipifera. 6 to 12 inch (s)	75 . 1.00 . 1.50 . 2.00 . 3.00 . 3.00 . 4.00 exas U:	6.00 8.00 10.00 15.00 25.00 25.00 35.00 mbrella	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60 .80	30.00 40.00 50.00 3.90 4.00 6.00
LIRIODENDRON Tulipifera. 6 to 12 inch (s)	75 . 1.00 . 1.50 . 2.00 . 3.00 . 3.00 . 4.00 exas U: 65 90	6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 7.00 10.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60 .80	30.00 40.00 50.00 3.90 4.00 6.00
LIRIODENDRON Tulipifera. 6 to 12 inch (s)	75 . 1.00 . 1.50 . 2.00 . 3.00 . 3.00 . 4.00 exas U: 65 90	6.00 8.00 10.00 15.00 25.00 25.00 35.00 mbrella 5.00 7.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60 .80 .40 .65 .85	30.00 40.00 50.00 3.00 4.00 6.00 3.50 5.00 7.00
LIRIODENDRON Tulipifera. 6 to 12 inch (s)	75 1.00 1.50 2.00 3.00 4.00 4.00 2xas U: .65 .90 1.25 2.00	6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 7.00 10.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60 .80 .40 .65 .85	30.00 40.00 50.00 3.00 4.00 6.00 3.50 5.00 7.00
LIRIODENDRON Tulipifera. 6 to 12 inch (s)	75 1.00 1.50 2.00 3.00 4.00 2.00 4.00 2.00 1.25 2.00	6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 7.00 10.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60 .80 .40 .65 .85	30.00 40.00 50.00 3.90 4.00 6.00 3.50 5.00 7.00 trans
LIRIODENDRON Tulipifera. 6 to 12 inch (s)	75 1.00 1.50 2.00 3.00 4.00 2.00 4.00 2.00 1.25 2.00	6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 7.00 10.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60 .80 .40 .65 .85	30.00 40.00 50.00 3.00 4.00 6.00 3.50 5.00 7.00 trans- more ses in-
LIRIODENDRON Tulipifera. 6 to 12 inch (s)	75 . 1.00 . 1.50 . 2.00 . 3.00 . 3.00 . 4.00 . 4.00 . 2.00 . 1.25 . 2.00 . 1.25 . 2.00 . 10.00 . 10.00 . 10.00 . 10.00	6.00 8.00 10.00 15.00 25.00 25.00 35.00 mbrella 5.00 7.00 10.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60 .80 .40 .65 .85	30.00 40.00 50.00 3.00 4.00 6.06 3.50 5.00 7.00 trans- more
LIRIODENDRON Tulipifera. 6 to 12 inch (s)	75 1.00 2.00 3.00 3.00 4.00 exas U: .65 .90 1.25 2.00	6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 7.00 10.00 15.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60 .80 .40 .65 .85	30.00 40.00 50.00 3.00 4.00 6.00 3.50 5.00 7.00 trans- more ses in- ercent be al-
LIRIODENDRON Tulipifera. 6 to 12 inch (s)	75 1.00 2.00 3.00 3.00 4.00 (xas U: .65 .90 1.25 2.00 8.00 10.00 Iulberry .50	6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 7.00 10.00 15.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60 .80 .40 .65 .85	30.00 40.00 50.00 3.00 4.00 6.00 3.50 5.00 7.00 trans- more ces in- ercent be al- d with
LIRIODENDRON Tulipifera. 6 to 12 inch (s)		6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 10.00 15.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm40 .60 .80 .40 .65 .85 e been one or ose prick ten pess will shipper specification.	30.00 40.00 50.00 3.00 4.00 6.00 3.50 5.00 7.00 trans- more ses in- ercent be al- d with ied all
LIRIODENDRON Tulipifera. 6 to 12 inch (s)		6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 7.00 10.00 15.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm40 .60 .80 .40 .65 .85 e been one or ose prick ten pess will shipper specification.	30.00 40.00 50.00 3.00 4.00 6.00 3.50 5.00 7.00 trans- more ses in- ercent be al- d with ied all
LIRIODENDRON Tulipifera. 6 to 12 inch (s)	75 1.00 1.50 2.00 3.00 3.00 4.00 2.00 1.25 2.00 8.00 10.00 10.berry 50 8.00 1.25 2.00 bardy F	6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 7.00 10.00 15.00 4.00 6.00 9.00 12.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm40 .60 .80 .40 .65 .85 e been one or ose prick ten pess will shipper specification.	30.00 40.00 50.00 3.00 4.00 6.00 3.50 5.00 7.00 trans- more ses in- ercent be al- d with ied all
LIRIODENDRON Tulipifera. 6 to 12 inch (s)	75 1.00 1.50 2.00 3.00 3.00 4.00 2.00 1.25 2.00 8.00 1.00 1.00 1.25 2.00 1.25 2.00  8.00 1.00 1.25 2.00  8.00 1.00 1.00 1.00 1.00 1.00 1.00	6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 7.00 10.00 15.00 4.00 6.00 9.00 12.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm40 .60 .80 .40 .65 .85 e been one or ose prick ten pess will shipper specification.	30.00 40.00 50.00 3.00 4.00 6.00 3.50 5.00 7.00 trans- more ses in- ercent be al- d with ied all
LIRIODENDRON Tulipifera. 6 to 12 inch (s)		6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 10.00 15.00 4.00 6.00 9.00 12.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm40 .60 .80 .40 .65 .85 e been one or ose prick ten pess will shipper specification.	30.00 40.00 50.00 3.00 4.00 6.00 3.50 5.00 7.00 trans- more ses in- ercent be all- d with ied all d and
LIRIODENDRON Tulipifera. 6 to 12 inch (s)		6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 10.00 15.00 4.00 9.00 12.00 12.00 15.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm40 .60 .80 .40 .65 .85 e been one or or one or or one or or one or or one or	30.00 40.00 50.00 3.00 4.00 6.00 3.50 5.00 7.00 trans- more ses in- ercent be all- d with ied all d and
LIRIODENDRON Tulipifera. 6 to 12 inch (s)		6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 10.00 15.00 4.00 9.00 12.00 20.00 15.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. 40 60 .80 .40 .65 .85 e been one or ese price a will shippe specific Balle	30.00 40.00 50.00 3.00 4.00 6.00 3.50 5.00 7.00 trans- more ses in- ercent be al- d with ied and
LIRIODENDRON Tulipifera. 6 to 12 inch (s)		6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 7.00 10.00 15.00 4.00 6.00 9.00 12.00 12.00 12.00 15.00 30.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60 .80 .40 .65 .85 e been one or ose price will shipper specific Balle	30.00 40.00 50.00 3.00 4.00 6.00 3.50 5.00 7.00 trans- more ces in- ercent be al- d with ied and
LIRIODENDRON Tulipifera. 6 to 12 inch (s)		6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 10.00 15.00 4.00 9.00 12.00 20.00 15.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60 .80 .40 .65 .85 e been one or ose price will shipper specific Balle	30.00 40.00 50.00 3.00 4.00 6.00 3.50 5.00 7.00 trans- more ces in- ercent be al- d with ied and
LIRIODENDRON Tulipifera. 6 to 12 inch (s)		6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 7.00 10.00 15.00 4.00 6.00 9.00 12.00 12.00 12.00 15.00 30.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60 .80 .40 .65 .85 e been one or see price A ten pes will shippe specife Balle Per 10 I \$6.00 9.00	30.00 40.00 50.00 3.00 4.00 6.00 3.50 5.00 7.00 trans- more ses in- ercent be al- d with ied all d and \$50.00 75.00
LIRIODENDRON Tulipifera. 6 to 12 inch (s)		6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 7.00 10.00 15.00 4.00 6.00 9.00 12.00 12.00 12.00 15.00 30.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .65 .85 been one or	30.00 40.00 50.00 3.00 4.00 6.00 3.50 5.00 7.00 trans- more ces in- ercent be al- d with ded and er 100 \$50.00 75.00
LIRIODENDRON Tulipifera. 6 to 12 inch (s)		6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 7.00 10.00 15.00 4.00 6.00 9.00 12.00 12.00 12.00 20.00 30.00 40.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm40 .60 .80 .40 .65 .85 e been one or see price A ten pess will shipper specifie Balle	30.00 40.00 50.00 3.00 4.00 6.00 3.50 5.00 7.00 trans
LIRIODENDRON Tulipifera. 6 to 12 inch (s)		6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 10.00 15.00 4.00 6.00 9.00 12.00 12.00 15.00 20.00 30.00 40.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60 .80 .40 .65 .85 e been one or ose price will shipper specific Balle Per 10 I \$6.00 9.00 4.00 6.00 7.50	30.00 40.00 50.00 3.00 4.00 6.00 3.50 5.00 7.00 trans- more ces in- ercent be al- d with ied all d and \$50.00 75.00 30.00 60.00
LIRIODENDRON Tulipifera. 6 to 12 inch (s)		6.00 8.00 10.00 15.00 25.00 35.00 mbrella 5.00 10.00 15.00 4.00 8.00 12.00 12.00 15.00 20.00 30.00 40.00	12 to 18 inch 1-yr. (s)	4.00 5.00 6.00 Elm. .40 .60 .80 .40 .65 .85 e been one or or one or	30.00 40.00 50.00 3.00 4.00 6.06 3.50 5.00 7.00 trans- more ces in- ercent be al- d with ied all d and Per 100 \$50.00 75.00 30.00 60.00 75.00

We have some extra nice two year	ar seedlings	Juniperus Virginiana Glaucca. Blue Cec	lar.
also one year transplanted Chinese taes suitable for lining out that we	e Arbor Vi-	4 to 5 feet	
ing at these very special prices.	These are	6 to 7 feet	
not B & B but will be puddled as s	oon as dug.	PICEA Canadensis. White Spruce.	0.20
	100 Per 1000	12 to 24 inch 150	9.30 12.50
01 10: 10	i.00 30.00 i.00 40.00	Picea Excelsa. Norway Spruce.	
12 to 15 inch 2-yr. (s) slender 7	7.00 60.00	12 to 18 inch	6.00 9.60
15 to 18 inch 2-yr. (s) slender 10 18 to 24 inch 2-yr. (s) slender 12		2 to 3 feet	12.56
	7.00 60.00	PINUS Banksiana. Jack Pine.	15.44
9 to 12 inch 1-yr. (tr) slender 8		4 to 5 foot 995	15.00
12 to 15 inch 1-yr. (tr) sinder 12 15 to 18 inch 1-yr. (tr) slender 20		5 to 6 feet	25.00
Baker's Arbor Vitae.		Pinus Nigra. Austrian Pine.	12.50
E 18 to 24 inch 1	ach Per 10	2 to 3 feet 1.75	15.00
24 to 30 inch		3 10 4 1000 2.30	22.50
30 to 36 inch	25.00	Pinus Sylvestris. Scotch Pine. 18 to 24 inch	10.00
3 to 4 feet		2 to 3 feet 1.75	15.00
Berckman's Golden Arbor Vitae.	20 10.00	3 to 4 feet	22.50
- 4	.25 20.00	Scotch Pine Seedlings.  We have some nice beds of two year	r old
	.75 25.00 .50 32.50	Scotch pine seedlings suitable for transp	
Bonita Arbor Vitae. Biota Bonita.		ing that we are quoting these very sp	pecial
15 to 18 inch		prices on. 4 to 6 inch seedlings 1.50	10.00
	.00 17.50	c to 8 inch seedlings	15.00
Compacta Arbor Vitae.  Each Per 1	0 Per 1000	8 to 12 inch seedlings	25.00
12 to 15 inch		12 to 18 inch seedlings 5.00 RETINOSPORA PLUMOSA AUREA.	40,00
15 to 18 inch 1.00 9.0		15 to 18 inch	10.00
18 to 24 inch	ach Per 10 .50 12.50		12.50
24 to 30 inch	.00 17.50		25.00 30.00
30 to 36 inch	.00 27.50	4 to 5 feet	40.00
Globe Arbor Vitae. 8 to 12 inch	.00 8.00	Retinospora Plumosa, Green Plume, 15 to 18 inch	10.00
12 to 15 inch	.25 10.00		12.50
15 to 18 inch 1 1 18 to 24 inch 2	.50 12.50 .00 17.50	2 to 3 feet	25.00
Hovey's Arbor Vitae.	.00 11.50		30.00 40.00
	.50 20.00	Retinospora Squarosa.	10.00
	.50 30.00	2 to 3 feet	
Pyramidal Arbor Vitae. 13 to 24 inch	.50 13.50	3 to 4 feet	
24 to 30 inch		TSUGA CANADENSIS. Hemlock.	
30 to 36 inch			15.00 17.50
3 to 4 feet	.50 32.50 .00 45.00		22.59
Rosedale Arbor Vitae.		3 to 4 feet	
18 to 24 inch (tr) 1.	25 10.00	BROADLEAF EVERGREENS	
24 to 30 inch		BUXUS SEMPERVIRENS. Tall Gro	wing
3 to 4 feet		Boxwood.	400
Tom Thumb Arbor Vitae.	00 750	Each Per 10 Pe	30.00
12 to 15 inch		15 to 18 inch	40.00
18 to 24 inch			65.00
Cedrus Deodara.	75 15.00	Buxus. Shaggy Type Tree Box. More and more rank grower than the Sempervis	
2 to 3 feet		Each Po	
3 to 4 feet	00 35.00	18 to 24 inch	6.00
4 to 5 feet 5.		2 to 3 feet	10.06
2 to 3 feet		12 to 18 inch	6.00
3 to 4 feet 2.			12.50
Juniperus Canadensis. Spreading		KALMIA LATIFOLIA. Mountain Laurel 12 to 18 inch	12.50
Per 1 12 to 18 inch spread 8.		18 to 24 inch	20.00
18 to 24 inch spread		2 to 3 feet	25.00
24 to 30 inch spread 15.0	00 125.00	18 to 24 inch 3-yr. (tr) B & B 1.00	8.50
36 to 36 inch spread		2 to 3 feet 3-yr. (tr) B & B 1.25	10.00
Juniperus Excelsa Stricta. Stricta			27.50 27.50
Ea	ch Per 10		
15 to 18 inch 2.0 18 to 24 inch 2.5		SPECIAL NOTICE	
24 to 30 inch	00 25.00	Last season we were headquarters for A	
30 to 36 inch		River North, California and Ibota Privett, Barberry Thunbergii and Spirea Van Hou	
Juniperus Hibernica. Irish Juniper 12 to 18 inch		We will have a good supply of each of the	hese
		varieties this Spring. You will find them list	sted
	35 7.50		V OF
2 to 3 feet	35 <b>7.50</b> 75 15.00	in this list. While we have a good supply these items now, the demand is greater	thia
2 to 3 feet 1.7 3 to 4 feet 2.5	35 <b>7.50</b> 75 15.00	in this list. While we have a good supply these items now, the demand is greater season than last so it will be a protection	thia 1 to
2 to 3 feet 1.7 3 to 4 feet 2.5  Juniperus Pfitzeriana, Pfitzers Jun 24 to 30 inch spread 3.0	7.50 75 15.00 60 niper. 90 27.50	in this list. While we have a good supply these items now, the demand is greater season than last so it will be a protection you to place your order NOW and be s You will notice that our price on each of the	this a to afe.
2 to 3 feet 1.7 3 to 4 feet 2.5  Juniperus Pfitzeriana. Pfitzers Jun	7.50 75 15.00 60 niper. 90 27.50	in this list. While we have a good supply these items now, the demand is greater season than last so it will be a protection you to place your order NOW and be s	this a to afe.

